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BropBrsRE s &, EEOTHDT2721 D120 E 2D TIE LW,
4) O
HFKNZZEO ) 1 602m TH A5, y = 1200 — 60x
(5) X
H LR SO OE S 137272 1 DTk T S 2w,
(xlZy DB THLILITVZ D)

6) O 400 x -2
e =——100 409
400 +y
TSZ (400 + y) % A1 C
3 15
(400 + y) = 400 x 2= x 100
400+ y = —6(;00

y— 8000 00
€

[2] (1) B4, 6) D& &, A Dz ERET 4.
Aldy=2z LIZHZDT, yHfFTy=2x4=8.
CNED Oy EBEE %15, —J, (BOyEE) = (CoyEE) THhiHH1H,
C D y HEREI 6.
Clidy=a2 LIZHsHDT, y=62RAT2L6=1 sz =0.
LoTCOzEEIX6 ZhizD D g HEE —3.
Plk&b, D(6, 8)

(2) (1) LBRICEZD L, AD 2 BETa £V, yBEZy =22 Dalla ZAL
Ty=2a £->T, DOyHEZL2a.
COyHEEIL LY, y=2Dyllbxf{ALTb=2 sx=b.
LoTCoaEE $4b5 DO FEELD.
PEEY, Db, 2a)
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(3) yzéxwxbia’i’ﬁ)\t“(yzéa

2

-.B (a, %a)

COLEQD OB, (2) DbE %a TEEFEA LI VOT

D(ia, 2a>
2

2

WABOEXE, A BOyBENELDT, 2a—%a=%a
HABCOEZIE, B, C O aEENELDT, %a—a:%a

- AB =BC
£oT, A ABCD BEHETLEH 5556, ILRERS.
(B D)

0<=x=<100, 10y =30

(3) Tovvre- {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12}
Yoo {1, 2’ 3’ 4, 6}

<BE> zlyDBMRIEIEDLHIIRL.
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